M EASRERIMH SR
RER

—. FRIUTER

(=) RIMPBREE (W)
REUERE) : 155 SIMPERITEN: 1, 0007 AR

1REZE (OT) 0.3

O BINESERERNE (T
FRIUTTER= BEFRE x RISTFEARE < STUPNER A x SNLRIBE R
1 EEFRK
REUERS) : 155 SINEISTEERMERN: 1, 000 AR

RELFE () 1.6

2. REMERAK

55N 07T 50 IT 100 7T 200 7

EFRAK 1 0.96 0.92 0.85

3. SSIULBNERAL

45T 100% 90% 80% 70% 60% 50%
PR A 1 0.9 0.8 0.7 0.6 0.5

4. SNHRBERE

BEAESRRIATEES SN 1

TERNESRRIATRES SN 1.2

(=) RIMEBRAMNSRESE (Ti%)
RIMERAMSEBER: 1070/ K

REEZR () 0.8

— . IEHRRER (RFERNFRNSOHHE)

IRBTHAIE) (DA | L 2 3 4 5 6 7 8 9 10 | 11 | 12

Bt (%) 15 [ 20 | 25 | 35 | 45 | 50 | 60 | 70 | 80 | 90 [ 95 | 100

E YT S, REMEANHE—THE, 2—1TRIE; REMEE—"THAMULE. A
TR, - TRUE; REBEE_TAMUL AR=THR8, Z=THR1E&E, &It

KHE




